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Name ___________________   Box _______

What horizontal force is needed to lift the wheel over the step?  The mass of the wheel is 10 kg.

R =0.35 m

h = 0.10 m










          h



A 0.085-kg meter stick is pivoted at one end and 

released from an orientation 60o from the vertical.

Calculate the angular acceleration of the meter stick


60o
and the tangential acceleration of the free end.











0.20 m

The large disc has mass 25 kg and radius 0.55 m.

It is rotating at 2.70 rad/s initially.

The small disc of radius 0.07 m and mass 15 kg

is dropped vertically onto the large one.

The two discs stick together and rotate about the original

axis of rotation of the large disc.

Find the final angular velocity of the two.

